841

135 3000 3000
PF—208C30 PF—-208W30 PF—208E30 PF—-208PL30
= = = = = = =y a1 —efT T T
3 \ ‘ \
N \
— = = = = = ——s— 23 e 3 |8 3-lg 3 | s 5
3 / N = -
- y C-LiA4T $42.7x12.3 N | | s
GL 1 6L . 6L | Ly Y1OL 1L 4 16L L 2
%It $60.5% £3.2 7 A s 7S ‘ f
o ~ - D150
S o T o .
= ft AL+ M12%x 30
> fy b7YH- M12
ZHEX (1/5) 0300 (kU 1E018%% 55mm)
55 135 |
‘ %%B%V‘VT EfL\/\u'{T
= é 942 7x12.3
| o )_gg_ (é ﬁ / )
R A 1 7L @ (1/10
Hft AL b o J U ot < / >
M12x 80 K it B =
| Bff A b F STK400 | ®3wo- % + BEHikeE
M12x 30 c-L/47 | STKA00 | Bfin- =+ HEHikee
S o 43PF2E | SCH400 | B3pwo & + MEHERE
2 T - AL b | 4.68Y | BHERDo = M12x80
o ;\ Fy k7Y - MI12 ﬁ&igﬁjw *70 42?% %%@ﬂ%’)@%ﬁwa 65
Sy LR 7 oPX vy 5} 15
| 4—972 (J:”“ ?18 % 55mm) Fy L7 ARERD- % M2
ARAD b ‘ & BAFL L | 4605 | GEBAD- & M12x 30
M12% 65 P —
650 LNz | 5 g
a1 S — e
| T e 25 !woo! 25
43PF2E 150
| | % 960.5x13.2
> -




